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freafefiag o & Rrad @<hver <@ Sl
g7

(1) @fefiefs  (2) TeRamdN
(3) wfae (4) Heea

freferfiad # @ A & THE & S Th &
e (rger) H ST 8 7

(1) wTsHITgan, I, Heat

(2) g, e, B

(3) sftm, feregy, T

(4) T, TS UREE, IS

(1) ST, <, 7o, e
(2) e, I, WHTT, T
(3) <, e, TIOT, SIHET
(4) A, IO, FHTT,

(1) oo §

(2) pRaETTERIST |

(3) e i H

(4) YEFIS aTfgahIati d

frr o ¥ B G HIRERT W OSE 6
HYATUT T THE T B ?

(1) 3331, (2) UH.3.3TR.

(3) Helah (4) F5H
fr=ffea § @ W @1 GRS €L
Penfieht & aree % w9 ° I 6l R
SR ?

(1) wArfsHs (2) wi=rs

(3) 9R.TH. (4) S.HLAT. T

In  which among the following
segmentation is observed ?

(1) Platyhelminthes

(2) Aschelminthes

(3) Annclida

(4) Coelenterata

Which of the following group of
animals belong to the same phylum ?

(1) Plasmodium, Amoeba, Mosquito
(2) Earthworm, Pinworm, Tape worm

(3) Prawn, Scorpion, Locust

' (4) Sponge, Sea Anemone, Starfish

The correct systematic position for a
genus is :

(1) Division, Class, Order, Family

(2) Family, Class, Division, Order

(3) Class, Family, Order, Division

(4) Family, Order, Division, Class

The process of sperm production takes
place in :

(1) Epididymis

(2) Vas deferens
(3) Prostate glands

(4) Seminiferous tubules

Which among the following is the
major site for synthesis of lipid in
cell ?

(1) RER
(3) Symplast

(2) SER
(4) Nucleus

Which ot the following is not used as a
vector  in recombinant DNA

technology ?

(1) Plasmid (2) Phagemid

(3) YAC (4) EcoRl

06
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(2) THT-FIATIT

(3) A

(4) TR fesreft

e i yrfl STt 2
(1) dfret sifserr g

(2) U d

(3) ArEYsh A

(4) afead

= o @ 3 @1 gersiEl §.6.em.
Toh-eh I E1LUA.U, JaET § T T
Fpvass HTHEIA R ?

(1) grepreat {sms

(2) sfoem eEwTe

(3) HRHHT I

(4) 9WE I

M, fRee g weifsa 9 Sia
Tffertor fforReaa O @ forg W amnfia 2 2
(1) TS0 T &

(2) ST T

(3) hif3reRT TT=AT

4) Fah

T TIAT0T § 9QTSS € 4 oh g
FoTl 5Heh el 3TqEe U ITed Bl &
(1) FAD®

(2) GTPd

(3) NADP®

(4) NADH

frafafes 4 @ =9 @ Wi
HETETATSE 1 IQTET & ?

(1) A (2) TR
(3) HUfeAIse (4) TetgaE

9.

10.

I1.

Which of the following process is
involved in fixation of CO, from
atmosphere ?

(1) Respiration

(2) Photosynthesis

(3) Deforestation

(4) Lightening

Nissl granules are found in :
(1) Nerve cell

(2) Cartilage

(3) Muscle

(4) Bone

Which of the following micro-organism
is the source of main enzyme used for
amplification of DNA during PCR ?

(1) Trichoderma reesei

(2) Bacillus licheniformis

(3) Streptococcus pyouencs

(4) Thermus aguaticus

The five kingdom classification by
R.H. Whittaker is based on :

(1) Mode of nutrition

(2) Mode of Reproduction

(3) Cell structure

(4) All of these

During protein synthesis, the energy
for the peptide bond formation is
derived from hydrolysis of

(1) FAD

(2) GTP

(3) NADP

(4) NAD

Which of the following is an example
of a primary metabolite ?

(1) Codeine
(3) Carotenoid

(2) Anthocyanin
(4) Galactose
o
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uredt # staecaen o frfe w SR
Ferl) gteTd =t Bl @ -

(1) fafim

(2) S

(3) gefa

(4) Heeld 1

e ®v @ aqatrﬁwwwﬁg@q“aﬁ_

8
(1) Tyt

(2) uTedt SR
(3) I=fiet wamToft

(4) TR-TROTOR

ush urey e are g filem % awErq
@ T3S W 8, T IMET 2

(1) wrh

(2) AT

(3) s

(4) e

fyafefaa o @, wedl ®, wv-ded H
IR € :

(1) wreferm (2) ARG

(3) S (4) Brfifirem

frefafaa & @ frg sum=Eh =k o
RUBISCO wftes 981 gian & ?

14.

16.

17,

18.

In plants, Casparian strips present on
the walls of endodermis are made up
of:

(1) Lignmn

(2) Xylan

(3) Suberin

(4) Cellulose

Cleistogamous tlowers are invariably

(1) Autogamous
(2) Geitonogamous
(3) Chasmogamous

(4) Xenogamous

An example of.a plant in which after
fertilization, the sepals wither and fall

~ oftis

(1) Raspberry
(2) Tomito

(3) Brinjal

(4) Bittergourd

Out of the following, an example of a
trace element, in plants, is

(2) Nitrogen
(4) Magnesium

(1) Potassium

(3) Mangancse

In which of the following metabolic
cycles does not involve RUBISCO ?

(1) Calvin Cycle
(2) Krebs Cyclc
(3) Photorespiration

(4) Crassulacean Acid Metabolism

The “Common Respiratory Pathway”
is also known as :

(1) Fermentation
(2) Oxidative phosphorylation
(3) Glycolysis
(4) Citric acid cycle
06
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fem T B F = at”! + b2, &I F 91
TUT ¢ 9T Sl oI A & | ad b Hi
W%, FhHI:

(1) LT 132

(2) MLT2, MT2

(3) MLT™!, MLT

(4) MLT-', MLT

Ifg fopeft et <t forsem & o= o 29
yfaera qfe & | 39 3w % A9A |
atfrenam wferera 3 Eeft —

(1y 0% ) 2%

(3) 6% 4) 8%

u IR 97 @ et = 0wt waifig
v il g R B | ¥fe 99T siv gum

T BT 36T YRR A g e
STt T gt —

(1) R2 ) R

(3) 2R (4) 4R

fraes p w1 wm, @ifs afew
a=31-4]+2k@ b =21-3)+pk
O I &, & — '

(L) =4 (2) 3

3) -3 4) -9

T 5o m R H fomreeen § R |
T W U ua 9e mRn S 8 | feu
M foegm & folw sEE Sow 9

HTYT BT —
(1) \fm % (2) \!117%

(3) m* (4) ;}; &

= 1 8 o v = TR EE R 7
() Wiy (2) i ado
(3) Trfees TNor (4) =t gy
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Given F = at™! + bt2, where F denotes
force and t denotes time. the
dimensions of a and b are respectively
() LT, T

(2) MLT2, MT?

(3) MLT !, MLT

(4) MLT !, MLT

It the percentage ecrror in the
measurement of radius of a sphere is
2%. The maximum percentage error in
measurement of its volume is
(1 0% (2) 2%
(3) 6% (4) 8%

A projectile tired with initial velocity
u at some angle 8 has a range R. If the
initial velocity be doubled keeping the
angle ot projection same, then the
range will be y
(1) R2

(3) 2R

(2) R
(4) 4R

The value of constant p, so that

A A n
=31 —-4)]+ 2k and
— & A £y
b=21- 3j+ pk arc mutually
perpendicular, is
() -4
3) -3

N
the vectors a

2 3
) -9

A mass m is at rest initially. A
constant force is applied to it. For a
given  displacement  the  velocity
produced in it will be proportional to

(M fm - (2)

3) m

| :
m

B
%) m

Which of the following is a self
adjusting force ?

(1) Static friction

(2) Limiting friction

(3) Dynamic friction

(4) Rolling friction
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(D) 3 ma-

us a5 5 N g % el wieft @ A
10 m = g e nifq el B | A R
T wE 25 ) 2, 9 9o ud 9w < i

FHifemFam e -
(1) 90° (2) 60°
(3) 30° 4) 0°

M FEIHH TE a Y Y THEHH SHR
@ W AR AT | 39 ©ie #
T B F qRE @ 6% qd & TEd
18T o GIUET Fged - 3T & —

(2) ma%/12

- x ? 22
(3) ma-/6 (4) 12 ma”

e ae e e & e 7 9 R e
q_ﬁts“cn%?

(1) 3™ (2) T HIEA
(3) AT (4) mgf

firm o guiy 3FER a o1 % U 0 b
TR HBHAT T m, 2 m, 3 mQEi 4 m gIHHE
FIXFN T & | & b g W@ m
T % U HU W e drell
TEeTSHY Ul S BT —

m 2m

L B )

4m Im
g .
a

1) 2\/5 anr

a-

Gm?
.(3) N2 a~

@) 3 Gn;2

a

@) 8@ an]-

a

25,

A body moves a distance of 10 m
along a straight line under the action of
a force of 5 N. If the work done is
25 I, the angle between the force and
dircction of motion of body is

(1) 90° (2) 60°
(3) 30° (4) 0°

Consider a uniform square plate of
side a and mass m. The moment of
inertia of this plate about an axis
perpendicular to its plane and passing
through one of its corner is

(1) = ma? (2) ma*/12

3
7 2
4) 7 ma

(3) ma%/6

Which of the following does not
remain constant in free simple
harmonic motion ?
(1) Amplitude

(3) Velocity

(2) Time period
(4) Frequency

Four particles having masses m, 2 m,
3 m and 4 m are placed at the four
corners of a square of edge a as shown
in the figure. The gravitational force
acting on a particle of mass m placed
at the centre of the square will be

m 2m

eim

4 m -~ 3m

A
b

a

) \f—i GTE

a

Gm?2
@) 82 22

Gm?
@) 22

a

2
) w373

a
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g forpfar Seue <Y 7 wehelt &
(1) haet 3rEl |

(2) HAAFA |

(3) haet &l

(4) zai wa Aai <t A

It | T KT el I AR W osEd
I U U 1 g8 m & | IR 39 Tl
4 g fr= 1wk ifdreRt eft w5t i

g ¢ @ 3 w9 I = geumH

BT —
(1) m/2
(3) 2m

(2) m
(4) 4m

A T -HTe h Th afert 7ol &
Ul Jenfed & W@ @ | URY % ged
J7feres Tt T W g

(1) = Srfrepaw & g =Had g |
(2) T freRdH BT < AT =HaH B |
(3) T TE I A = E |

(4) TE T N gHT Aferhad g |

Th TR H Tk fE 50 J el @

AT = 1] J HE wEr & | HE

T wd wfRm sEemEi % fou
T ek 311 FEHTTT U T SET
T §Y 15 ) BT ®, A 59 Toha |
FEHT S & —
(1) 391
(3) 541

(2) 651
(4) 461

T HMI 3 a9 227 °C TG 127 °C %
we 1 AT @ | Afe 3R o ol s
5001 3, @ T = afespa s H
" 8 -

(1) 20001 (2) 25001

(3) 10001 (4) 15007

29,

30.

31.
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33.

Longitudinal strain can be produced
(1) only in solids

(2) only in liquids

(3) only in gases

(4) both in liquids and gases

On dipping a capillary in water the
mass of the water that rises in it is m.
[t another capillary of double the
radius of first is dipped into the water
the mass of water rised will be
(1) m/2 (2) m

(3) 2m (4) 4m

Water is flowing through a horizontal

tube having unequal area of cross section,

At the most narrow place of'the pipe

(1) velocity of water is maximum and
pressure minimum.

(2) pressure maximum and velocity
minimum.

(3) both velocity and pressure will be
minimum.

(4) both velocity and pressure will be
maximum,

A system absorbs 50 J of heat and
does 11 J of work in a process. The
system follows a different
thermodynamic path between the same
mitial and final states and does 15 ]

work, the heat transferred in  the
process is

(1 39J (2) 651

(3) 541 (4) 461

A carnot engine operates between the
temperatures 227 °C and 127 °C. If the
work output of the engine is 500 J,
then the amount of heat rejected to
sink is

(1) 20001 (2)
(3) 1000)J 4

25001
1500
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38.

30 °C H¥ 99 W TH =& 75 °C ¥
65 °C a& 2 fime § 3vdl &t & | g
& i H! H& AT W 55 °C § 45 °C
ok 3US B T GHY T —

(1) 2fe 2) 3fme

(3) 4fe (4) 5fme

1T 3 Sicer e et 7t shean 2 -
(1) dia sl = |

(2) W&t hl I T

(3) & & Ieqfia quT hl g T
(4) €I Td Yereh o Hed i gl W

HHael gdur <hl HIshE gt Tl TTEEH gl
;-

(1) f=e0,m=0

(2) f=0,m=1

(3) f=c,m=1

(4) f=0,m=20

@W(],Rﬁ@'lﬁ‘ﬁ?ﬁﬂﬂﬁ?ﬁq
Tz ¥ ufeg ® | Afg Mol |ag
forsen w1 g R fean S, A EaE 9@
TTitd ferea v

(1) G181 S |

(2) =T TN B

(3) 3T B ST |

(4) ufafda @m |

21 "ot T4 yciss 6t arfar 2 uF g,
THTER 3 | SIS 7T § aUT 39 HASH h
lB;lF%@éHﬁﬁ%%ﬂ?ﬁqﬁaﬁ@
T & | fepr <6 g 2 -
(1) 3uF (2) 6UF
(3) 13 uF (4) 16 uF

w
N

37.

38.

An object is cooled from 75 °C to
65 °C in 2 minutes at a room
temperature ot 30 °C. The time taken
to cool the same object trom 55 °C to
45 °C at the same room temperature is

(1) 2min
(3) 4 min

(2) 3 min
(4) 5 min

Doppler shift in frequency does not

depend on the

(1) speed of source

(2) speed of observer

(3) frequency of the wave emitted by
the source

(4) distance between the source and
the obscrver

The focal length and magnification of
a plane mirror are

(1) f=co,m=0

(2) f=0,m=1

(3) f=co,m=1

4 f=0,m=0

A charge q is enclosed by a Gaussian
spherical surface of radius R. If the
radius of spherical surface is doubled,
then the electric tlux through the
surface will

(1) be doubled

(2) increase four times

(3) be reduced to half

(4) remain the same

Two capacitors each of value 2 UF are
connected in  parallel and this
combination is in .series with a
capacitor of 12 pF. The equivalent
capacitance of the system is
(1) 3uF (2) 6 UF
(3) 13 uF (4) 16 pF
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QTR T YeTe T HH S ¢ |
3! B wHS: r W@ 2r B | 3
ferfire wferiedt o1 arquma & —
(1 12 (2) 2:1
(3) 1:] (4) 4:1

41q ) Tk B I TE TG FEHE &
H TEd € @ g8 gEeh &9 % aEe
TfEd B Il & | aered <t wept @ —
(1) wfaepaeh

(2) IR

(3) SE-grhiA

(4) Tg-Trehia ITEl TR &l

Gehell 2 |

| dars bl wH ol giErfersht
CTehed FHTATA gl 8 —

(1) 2% Q) %

| !
3) 7F @ 5 ®

S 0.05 /. H 970 HAF 424 F -2A
weordl ® df puselt # 8V I fa.9r.
Sifte € @ | HUSeH BT TR0T T &

(1) 0.05H (2) 0.1H
(3) 0.2H (4) 0.8H
I % fgfeere wam # Sfem fesr =iers B

2 | afe g 6 amgfa gt i S 2, @
f?ﬁf?ﬁ@ég‘fﬁ@ﬂ—

(H 2B 2 B

2=

(3) (4) 4B

40.

41.

42.

43.

Two wires arc of same material and
same length. Their radii are r and 2r
respectively. The ratio of their specific
resistances 1s

(h 1:2 (2) 2:1

3) 1:1 (4) 4:1

A metallic rod when placed in strong
magnetic field, aligns itselt at right
angles to the magnetic ficld. The
nature of material is

(1) Diamagnctic

(2) Paramagnetic

(3) Ferromagnetic

(4) Can be
paramagnetic

ferromagnetic  or

The self inductance ot a long solenoid
of length / is proportional to

(1 F (2) !/

| I
G) 7 “) 2

When the current changes from +2A to
—2A in 0.05 second, an emf of 8V is
induced in the coil. The coetticient of
self inductance of the coil is

(1) 0.05H (2) 0.1 H
(3) 0.2 H (4) 0.8H

Fringe width observed in the Young’s
double slit experiment is . If the
frequency of the source is doubled, the
fringe width will become

() 2p (2) B
3) % () 4B
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T Gdg W Soiged Icfd Bid & S|k
T8 R eIy @ wéw fera ST  wig i

RIS Y SAGEH Icatsd Tl 8Id & | Bil

Terdeid e f) Scafsia gnl St Hag
wéte ferar ST & —

(1) 3ach fertor &

(2) e ferton @

(3) e Y H

(4) TR SeRTI ®

T I | X W T o T & P o

1 IcqS gial &, dt qivorHY A1fives & —
A A6

() Y (2) Y
72 Z—-4
A-0O A

3) X 4 X
Z Z

e 4 ¥ 39 91 TR uvE S @ 7

1y NV——w 3V

) VP _2V

3) OV—ppb—w—2V

o= 1 weffa aifehes aftaer w1 frta grm —
. pmsa ] .
(1) AB

2) A+B

(3) AB

(4) TeE A

10
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A surface - ejects electrons  when
illuminated  with green light but
electrons are not ejected with yellow
light. The photo electrons will also be
cjected on illuminating the surface
with

(1) Infrared rays
(2) Ultraviolet rays
(3) Red light

(4) Orange light

A .
A nucleus 7X emits one o and two 3

particles. The resulting nucleus is

A4 A0
(n Y (2) Y
-2 74
A-D A4
(3) X (4) X
Z Z

Which of the following diode is
reverse biased ? '

R 3V
@) *V—>
3)
(4)

(‘\;+ﬁA—_IV

The output of the logic circuit shown
in figure will be

| —]

(1) AB

A+ B
AB

Always zero
06



48.

49.

50.

n
I~

06

afg Ay, A AT A, HEI: T9A T,
X-fertol wd gem at & atned & qt

(D) An>A> Ay

(2) Am=he>he

(3) Av>A>An

(4) Av>Am> A

11253333?136?&3?@@@?{@
el & —
(1) 9
(3) 36

(2) 16
4) 25

qf@n, H,NCONH,, ® 2 x 1073 M

qrgal H1 200 frefl. faee a9 &G,
i 6T JTIvIH AT R —
(2) 24¢

4) 1x102g

(1) 0.12¢
(3) 0.024¢

foreht g w1 wi-yer-mer 9 9 g
BT, SIS AT HY

(1) HTHT Uh-=rs fopa sma |

(2) EeTERT 3T TR S |

(3) SGTeRt T feha ST |

(4) QTR S TAT fopaT STE |

Th 39 h FEAT § T A uHE
Seeh % wEl W R &, sy B
g STers it gl + by W fRa B
YT WA C T % Hg W 7, a9 3

ek <1 & I —
(1) CA,B (2) CA,B,

(3) CAB, (4) C,AB
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fJ'
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If A.A, and A
wavelength -of visible light, X-Rays
and microwaves respectively then

(1) A, >A >,

(2) Km > )‘\-' = A’x

(3) A, >A >

(4) A, > > A

represents

Total number of orbitals in an encrgy
level withn=35is

(H 9
(3) 36

) 16
(4) 25

Amount of urea, HZNCONHE, needed to

form 200 ml ot 2 x 103 M solution is

(1) 0.12¢g (2) 24¢

(3) 0.024¢ 4) 1x102g

The root mean square velocity of a gas
is doubled when the temperature is

(1)

reduced to one tourth
reduced to half
increased two times

increased four times

A solid has a structure in which atom
‘A’ is placed at corners of a cubic
lattice, atom ‘B’ is placed at edge
centres and atom ‘C” at the centre of
the cube, the formula of the solid
compound is

(1) CA,B (2) CA,B,

(3) CAB, (4) C,AB



h

:J‘l

o=h-1 < senfufa =t g1 @ fresd |
Gis -1

A. NH, . ool
B. CIFy 2 Freefa i
C. SO, 3. T-3Bi
D. S§F, 4 g@ﬁg’é
HIS :
A B C D
() 12 3 4
@ 4 3 2 1
G) 3 1 4 2
@ 2 3 4 1

frafoafaa smpi % =i WA %
HeHTUT 1 HEl A A1 7

— XeF,, XeOF,, BCI, W IC/,"

(1) spid, dsp?, sp?, sp?
(2) 5173(1, sp3dz. 51)3, sp3
(3) sp, spd, sp, sp?

; i
(4) spid, spid, sp?, sp'd?

[Co(NH;);SO,1Br 3T [Co(NH;)s
Br]SO, fre R S TR Sl
HAE 7

(1) I FHIEIET

(2) SYEEEANS GHTEAET
(3) Sy TaEgEar

(4) TehRTIITe HHTE™EAT

afq et [Co(NH;)5(H,0)13" 500 nm
wﬁﬁwmaﬁsﬁlﬁamg\t ar
SERT TT Tl &I —
(1) @

(3) et afga

(2) e
(4) da-araft

12

n
(78]

h
n

Match the geometry of following from
List-I with List-II :

List-1 List-11
A. NH; I. See-Saw
B. C/F, 2. Trigonal Pyramidal
C. SO, 3. T-shape
D. SF, 4. Bent
Codes :
A - B -C. D
My 1 2 3 4
2) 4 3 2 1
(3) 3 I 4 2
(4) 2 3 -+ |
The correct order of hyhrid'izution of
central atom in the following

molecules will be :

— XeF,, XeOF,, BC/; and IC/~
(1) spid, dsp?, sp?, sp>
(2) sp’d. spid?, sp?, sp’
(3) sp, spid, sp2, sp?

(4) spid, spid, sp, spid?

[Co(NH;);SO,]Br and

[Co(NH,)5 Br]SO, show which type of
isomerism ?

(1) Tonisation isomerism

(2) Co-ordination isomerism

(3) Linkage isomerism

(4) Optical isomerism

If the wavelength of the light absorbed
by [Co(NH;)s(H,0)]*" complex be
500 nm, the color of this complex shall
appear to be
(1) Red
(3) Purple

(2) Blue
(4) Yellow orange

06



59.

60.

ol.

06

ﬁt{%rﬁaﬁﬁéumsnwaa’f?ﬂﬂﬁ
wHE:
() C>N>0O>F
(2) O>N>F>C
3) O>F=>N=>C
(4) F>*N>0>C
Frfafea wenfaai & 3R @1 @@
BN EE A B
(1) Na'<Al<F <Mg?*
(2) Mg?*<Na*'<F-<A/
(3) Na® <Al <Mg>*<F-
(4) F-<Na"<Mg** <Al
aaﬁﬁm.l-{,u_) + €Oy = CO, +
H,0,, ¥ [H,] T [CO,] I TrfAmF
r=sdl l.mu]fL%W%ﬁﬁﬂW‘T{.\
A/ TREINE Wgh Bt 8, K. %
fore adt arfireafis 2 -

2 32

(2) (1 —x)

- S N .
@) @ @y
HA, (K, = 9.8 x 107) T HA, (K, =
2 X 1070) AT & & HeNT- e qerad
& | I | 3T o wrgar 1.0 M2 |
S Al o BIESISH AR At [HY]
BT FFIT BT~
(1) 49:1
(3) 49:1
frferiaa =

O yteo -—»O() i-

wte — O(_“] : + 790.8 kJ mol™!

1 IR O, F O 3 Fmtor & 1
AT A Il Y Y TOHT A |

(1) +932.2 kI mol™!
(2) —932.2 k] mol!
(3) +649.4 kJ mol!
(4) -282.8 kJ mol™!

5

(3)

(2)-7.0:1
(4) 1:49

141.4 kJ mol~!

O

13

57.

58.

59.

60.

ol.

- Olgl TE O{g}

The correct order of first ionisation
energy among the following is

(I) C>N>=0=>F

(2) O>N>F>C

(3) O>F>N>C "

4) F>N>0>C

The correct order of increasing size of
the following species will be

(1) Na*<Al<F <Mg2

(2) Mg2'<Na*'<F <A/

(3) Na'"<Al<Mg>"<F-

(4) F-<Na"< Mg <A/

The reaction Hm 5t CO,[ ) = CO ok
H,0,, has initial concentration of [ H_]
= [CO,] =

hydrogen is consumed at cquilibrium,
the correct expression for K is

[ mol/L and x mol/L of

\"' ‘\'2
.\'2 : .\‘2
('J) (2 _.‘.)2 (4) (2 +.‘-)3

The ratio of concentrations of H™ in
two separate 1.0 M solution of acid

HA, (K, = 9.8 x 107) and 1.0 M
solution of acid HA, (K, =2 x 107%) is
(1) 49:1 (2) 7.0:1
(3) 49:1 (4) 1:49

From the following information :

—141.4 kJ mol™!

o~

(2) ; + 790.8 kJ mol™!

o 20
+¢ —
c O{g}

Calculate the total energy change to

@) ~ from O

+932.2 kJ mol™!
-932.2 kJ mol™!
+649.4 kJ mol™!
~282.8 kJ mol™!

pr od uce O

(1
(2)
(3)
(4)



62.

]

63.

64.

66.

FAfBRaT N, + 3H,,) —  2NHj,
frra a9 9 o W wEE T B, 9 AH
(Fdedt) wam AU (3TTafes el iEd)
3 foru srfireafss anfi -

(1) AH=0

(2) AH =AU

(3) AH < AU

(4) AH>AU

éﬁ%ﬁﬂtﬁﬂm :

2MnO, + X + 6H — 2Mn?* + 8H,0
+10CO,F X2 -

(1) SOH-

(2) 10HCOOH

(3) BCI0~

(4) 5(COOH),

HCIO, W& BrCl o A o aATerfientor
el § 3T R —

(1) +6

(2) +8

(3) -6

(4) +5

HIY IEH & —
(1) #Ierge
(2) #eiwEe
(3) ShemrET
(4) Taeuse

feeTeet I o fara-maet &t

F Gy W I HYA § —

(1) GHrE Tt TR w1 a2 |

(2) HUTS g PR A Bl 2 |

(3) B Hhe HI < faem
ferega— et forergm drar @ |

(4) @E?:TﬁT@FﬂT%Cuzqk‘vﬂCu{s}

.
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63.

64.

65.

60.

For the reaction N

+ -

2™ Mo —
2NHy,, carried out at constant
temperature and  pressure,  the

expression for AH(Enthalpy) and AU
(Internal energy change) will be

(1) AH=0

(2) AH =AU

(3) AH < AU

(4) AH > AU

In the balanced chemical equation :
2MnO, + X + 6H" — 2Mn?" + 8H,0
+10COs.

Xis

(1) 50H

(2) 10HCOOH

@) 5C50,%:

(4) 5(COOH),

Difference in the oxidation numbers of
chlorine in HCIO, and BrCl is

(1) +6

(2) +8

3) -6

(4) +5

The copper ore is
(1) Magnetite
(2) Malachite
(3) Calamine
(4) Siderite

In relation to clectrolytic refining of
blister copper, the false statement is

(1) Anode is of blister copper.

(2) Cathode is of pure copper strip.
(3) Acidified solution of copper
sulphate is used as electrolytic
solution

Anode reaction is Cu®" + 2¢” —
Cuy

(4)

06
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68.
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06

o faerm 4 wifsag arsgse @
mifEn wige A sfiEa @ sam
SIS 3G & —

(1) aifeam e

(2) TEgH TFTES

(3) TsIeH |

(4) Hifeay wsmge

e /@ o POl 3] % HeY §

U HYA § —

(1) sEht g raaaare i
2|

(2) 39 Gt P-Cl 9% THEAH 2 |

(3) 398 v freflg wd < anefw p-Cl
TR 2 |

(4) 3ef™ P-Cl g4t & os, Frefig
el & 31feren gt 2 |

Uk Tefeh A H e 1 el
85.7 Ue EIZSISH 1 Ulawrd 14.3 & a

39 1R T YT G 8 —
(1) CH (2) GoNS
(3) CH,

(4) CH,

CH, = CH, + HBr — CH,CH,Br,
AfTehaT AT TR 2

(1) SolFiTegl afaeema ARiiean
(2) SEITERT ATk TffRT

(3) iRl gfaeama srfifsran

(4) RreREE armenss stfiifsran

39 UeshiA 1 A1 a1 fdeh IS
ITEeT § UHieH I BT @ |

(1) -2

(2) eI

(3) 2.3- SRR ®E-2-87

(4)

15

67.

68.

69.

70.

71.

Nitrogen product produced by the
reaction of sodium nitrite  and
ammonium  chloride in  aqueous
solution is

(1) Sodium nitrate
(2) Nitrous oxide
(3) Nitrogen gas
(4) Sodium azide

About PCl; molecule in gaseous phase

the false statement is

(1) It has trigonal bipyramidal
structure.
(2) Its all five P-Cl bonds are

identical.

(3)

There are three equatorial and two
axial P-CI bonds.

Length of axial P-Cl bonds is
longer than equatorial bonds.

The percentage of carbon in an organic
compound is 85.7 and the percentage
of hydrogen is 14.3. The empirical
formula of this compound is

(1) CH (2) C,H,
(3) CH, (4) CH,

CH, = CH, + HBr — CH,CH,Br, the
type of reaction is

(1) Electrophilic substitution reaction
(2) Electrophilic addition reaction

(3) Nucleophilic substitution reaction
(4) Nucleophilic addition reaction

Name the alkene which on ozonolysis
gives acetone

(1)
(2)
(3)
(4)

But-2-ene
But-1-ene
2.3-dimethyl but-2-ene

Propene



73.

74.

75.

76.

78

78.

ezt % Teheteh &

(1) AT 3R BifceIEEs

(2) WIEH 3R 1, 3- SIS

(3) TRyl TerTgshiar 3T dfereh 3=
(4) wRrefie wrrgeRTer 3 Ao I

fr=faftad diftent ° sF a1 il T2
27

(1) & (2) WIHH

(3) ufeaE (4) HIEH
fr=fafaa § @ @ @ amsg=rEl =y
g7

(1) g (2) G|

(3) | (4) @™

el foraw Hiezs 8 7

(1) 5= o1 79 4 aieafa 2 |
(2) 9% %o ga § gREfa g |
(3) 319 % o1 g | qiEfya B |
(4) 318 % w5 g gRafta F |

frafafga @ @ = @ 9 e -
Sareifed st ] 2
(1)y CO
(3) O,

el agfg o fo R fafte
ANTEH 2

(1) CFCs
(3) CO,

Fifeiaa fafesot o foreent stasmiym
R FHATTHSA IS geefl W Sfia i
TRl 2 ?

(1) vV - fafeor

(2) X — Tertut

(3) HurE feptol

(4) < fafem

(2) €O,
) O,

(2)..N,0
(4) CH,

16

T2:

74.

76.

77.

78.

. The monomers of glyptal are

(1) Phenol and Formaldehyde

(2) Styrene and 1, 3- Butadiene

(3) Ethylene glycol and Phthalic acid

(4) Ethylene glycol and terephthalic
acid :

Which of the following compounds is
not an opiate ?

(1) Heroin
(3) Aspirin

(2) Morphine
(4) Codeine

Which of the following is
reducing sugar ?

non-
(1) Fructose (2) Sucrose

(3) Glucose (4) Lactose

‘Fog’ is a colloid of

(1) Liquid particles dispersed in gas

(2) Gaseous particles dispersed in a
liquid

(3) Solid particles dispersed in liquid

(4) Solid particles dispersed in gas

Which of the following gases forms

carboxy haemoglobin ?
(1) CO (2) CO,
(3) Oy 4) O,

The major contributor to

warming is
(1) CFCs

(3) CO,

global

(2) N,0
(4) CH,

Stratospheric ozone protects the life on

the earth by absorbing
(1) UV radiation

(2) X-Rays

(3) Cathode Rays
(4) Visible Radiation

06
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79.

80.

81.

83.

84.
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06

frefafaa § @ =9 o SRR 9
WA aiEg H afe & ?

(1) fageh STfeeRt TE el HE

(2) TiTesht T TE AIGEIHITUGAT

(3) Sidget STfcTen! Te HgERITvgaT
(4) ITSHISH T Tiew] S + higeh

frafafgs & @ s9 @ wa gy
(sftereer) T @ ?

(1) =& (2) ¥d

(3) STEEN (4) 3T
Y€ 5l 1 et fava gran @

(ry 1

) 0

(3) 0@ HH

(4) 0 Y SIQI W | & A

TR i F e gavem foars
EECE

(1) Sreid (2) @ H

(3) ufaaid (4) wAH

w%wmwmﬁsﬁ%ﬁw

Stafafaerar glewic 1 g H i
%QTTI?TIT%: '

(1) YR AT (2) ufvast =
(3) i = (4) i =1 sFe
SraFer AR S aTH=1 AW @
(1) T Hid (2) e TS

(3) @Al Il (4) w1 fpw

Saropadi # S @1 30, AIgerhiogan %
THefd 3R ?
(1) ™
(3) =ity fufa

(2) TzEEM

(4) HHESH
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80.

81.

82.

83.

84.

Which of the following organelles are
involved in protein traisport ?

(1) Endoplasmic Reticulum + Golgi
bodies

(2) Golgi bodics + Mitochondria

(3) Endoplasmic Reticulum +
Mitochondria

(4) Lysosomes + Golgi bodies +
Nucleolus

Which of the following fruit is not a
drupe ?

(1) Cherry
(3) Plum

(2) Apple
(4) Peach

The water potential of pure water is
(1 1

2) 0

(3) Lessthan 0

(4) More than 0 but less than 1

Deficiency symptoms of potassium are
first visible in

(1) Roots (2) Stem

(3) Leaves (4) Fruit

Name the region from India that has
been listed as biodiversity hotspot :

(1) Thar desert

(2) Western ghats

(3) Eastern ghats

(4) Gir forest

The common name of Drosophila
melanogaster is

(1) Round Worm (2) Fruit Fly

(3) Seca Horse (4) Zebra Fish

In bacteria, which of the following is
analogous to. mitochondria ?

(1) Nucleoid
(3) Cell Wall

(2) Ribosomes
(4) Mesosomes



86.

87.

88.

89.

90.

91.

(2) T@, AIDS

(3) &M, AIDS
(4) oo, S

fermafisT 2fEIeTEe 1 SerEw 2
(1) ardffferar

(2) TEhEn

(3) FHIITEI

(4) ehefrew

STeplcieh Y9 H TSTEAH & Y5h & J g
ST T SFATgasif 9Tey 2

(1) w5 (2) 2@

(3) gl (4) TS

W Wl AT GG  fhaAR Th-ga
=1 Tt oft foan & srfvorfen = = 2
TS I HEATdl & :
(1) desiterd
(3) =TEfdad

(2) el
(4) HRSE

+H (CAM) UTegl § T :

(1) TRMEA &I T |

2) ®ft T g |

Q) fadgaiwui i I € |
(4) Mg @ A dde e |
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91.

Parictal placentation with false septum
is a characteristic feature of family :
(1) Malvaceae

(2) Ranunculaceae

(3) Brassicacecae

(4) Apiaccae

Which one of the following pairs of

- discases is caused by viruses ?

(1) Typheid, Tuberculosis
(2) Ringworm, AIDS

(3) Common cold, AIDS

(4) Dysentary, common cold

An  example  of
pteridophyte is :

heterosporous

(1) Marsilea

(2)' Rhynia

(3) Lycopodium
(4) Equisetum

A Gymnosperm, that grows naturally
in the arid areas of Rajasthan state is
(2) Taxus

(4) Abies

(1) Cycas
(3) Ephedra

When the margins of sepals or petals
do not overlap cach other, in any
direction, the condition is known as

(2) Valvate

)

(1) Vexillary

(3) Twisted Imbricate
Stomata ot CAM plants :

(1)
(2)
3)

are always open

never open _

open during the day and close at
night

(4) closc during the day and open at
night

06



94.

06

S 41 g ghferd T8 & ?

(1) SO : shsft IR

(2) 9.3.9. wisieEiAS ; JUHEAdS
(3) =IehEA : HHTT ek Fad

(4) PSII:P 700

a1 %1 TS IF w1 FEEE kg B,
ZEX % @ AW 101 m/s T 27 + 4
nv‘saﬂﬁﬂﬁl?ﬁ{%% IW%Wﬂﬁ
2 U1 g SITd 8, 91 geHH g al
T forepr @1 31fam Fam BT —

() A

) 125 +47 ke-m/s

(3) 3?+4j\kg-nh’s

(4) b?kg-m;'s

fom i sompl o Rt awg S
HE T o, ¥ w, T AT 7 | T H
T 3TUTd & —

ek 3TaHied Sleteh I AT 2s H 3TTET
® 91 & | alad URY BH o Ss €1

ST &1 ST —
(1) Errfﬁ%mmmw%
1

(2) uﬁﬁﬁﬁmw-g

(3) wrfsre BWEF:T%

. 1
(4) 9Rfiyeh T 155
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94.

o
h

Which of the following is wrongly
matched ?

(1
)
3)
“)

Sorghum : Kranz Anatomy

PEP Carboxylase : Mesophyll cells
Blackman : Law of limiting factors
PSII: P 700

Two particles, each of mass Ikg, move

with velocities 10 i m/s and 25 + 4j
m/s respectively before collision. If
these particles sticks after the
collision, then the tinal momentum of
system in center of mass frame is

(1) Zero

(2) 12 T+4 3\ kg-m/s
(3) 8/i\+4fi\kg-1m's:
4) 6 1 kg-m/s

The angular velocity of a body
changes from ®, to ®, without
applying any torque. The ratio of
initial radius of gyration to the final
radius of gyration of the body is

W oo
@ oy o

3) o,

(4 o : o,

Amplitude of a damped oscillator
becomes half in 2s. The amplitude
after 8s of start of oscillation will be

1

(N Zo’r‘initia] amplitude
Lo y

(2) got initial amplitude
b e e :

(3) I of initial amplitude

LSRR & .
(4) 35 ofinitial amplitude



96.

97.

98.

99.

e JraHfea qiferd w1 fersiwar ones

(1) 319 YOI % GHTIT BT § |

(2) JHeHEA VT % SYSHHATIIT Bl
2

(3) < % M *H FHHIT BT 2 |

(4) IS % ST 3 FSHATAT BT 2 |

y = (0.02 m) sin[x + 30t] o 9ftfa ws

IR AT 1.2 x 104 kg/m WHE

GEIHT T <hl Tt g8 o W w=Ra R |
S A aE g - |
(1) 0.059N (2) 0.108 N

(3) 0.177N (4) 0.216N

W qOF HT Sl T BT & -
(EehaTeht o G 371ef 2)

(1) pw’a? (2) p*wa

(3) % prea @) 3 pota?

T Afea a9 T (K #) W affasfion 31
(0,) Y af-Hrea-ge =t v & | afe @
QAT X T Sar 8 aen anfefiem i
gy TS (0) # Frifm &

ATt §, AT GO ST IS Shi Si-
I T <1 st —
(1) 2v (2) v/2

3) \2v 4) VA2

100. Tfosfier @ 3 w1 wew g 9™

IS % = A ket uTa F qHEUT
BT | TRk HT A R -

(1) -2 @) =
(3) +1 4) +2
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97

98.

e

100.

Quality factor of a damped oscillator is
(1) directly proportional to damping
factor

inversely proportional to damping
factor

directly proportional to amplitude
of oscillation

(4) inversely proportional to
amplitude of oscillation

A transverse wave described 'by
y = (0.02 m) sin[x + 30t] propagates on

‘a stretched string having a linear mass

density of 1.2 x 10 kg/m. The
tension in the string is

(1) 0.059N (2) 0.108 N
(3) 0.177N (4) 0.216N

The energy density of a progressive
wave is given by (symbols have their

usual meaning)
(1) pwra? (2) paa

| =, | 9,2
3) f proa 4) 5 .purE

The rms speed of oxygen molecule
(O,) at a certain temperature T (in K)

is v. If the temperature is doubled and
oxygen gas dissociates into atomic
oxygen (O), the rms speed of atomic
oxygen will be

(1) 2v

() \2v

(2) v/2

4) VA2

The mean free path of moving gas
molecules is directly proportional to
KM power of diameter of molecule.
Here value ofk is

(1) -2
(3) +1

@) -1
4) +2

06
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A B FeTEE FEAN § AR 3T g

(1) T aUTeet {0 8 |

(2) FIITEAA R |

(3)  TUM <hl THIT THATH 7 |
(4) # fraa e ar |

1&g 4 | g & g sheltarag Jehrst I5
Sferehtur gfere T4 € | B8 faig, sTei w
AT I B, W cfreran grft —

(1) 91 () 51

(3) 41 4 1

T G & [O7E, Foiagl o gl o
HROT R H1 IWCH HAM: 3/4 T
1/4 8 AT 37eh STIITE AT T STUTT 5/2
T g 9 BT FIEdT 1 AU & —
(1y 2:15 (2) 5:6
(3) 6:5 (4) 15:2

aferpiar if-=rereni % TR S
Uik <hT W BIT & —
(1) 0.25% 0.4 ST
(2) 045¥0.5% 08
(3) 0.659 0.7 A
(4) 0.9% 0.95% T

= ami W, Sereh fafite FeAr giEtda
Bt 8 —

(1) T 3gER
1
T3 % IR
T o TTER
]
T JTIER
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101.

102.

103.

104,

105.

Two sources are called coherent i1t
they produce waves

(1) of equal wavelength

(2) of equal velocity
(3) having same shape of wavetront
(4) having a ° constant  phase

difference

Two coherent light beams of intensity
1 and 4 | produce interference pattern.
The intensity at a point where the
phase ditference is zero, will be

(1) 91 (2) 51
(3) 41 4) 1

For a semiconductor, the fraction of
current contributions due to electrons
and holes are 3/4 and 1/4 respectively
and their drift velocities are in ratio
5/2, then the ratio of electron and hole
concentration is
(1) 2:15

(ay &2

) 5:6
4) 15:2

Isotope effect coetticient of most of
super conductors lies between

(1) 0.2510 0.4
(2) 0.45t00.5
(3) 0.65t0 0.7
(4) 0.91t00.95

At low temperatures the lattice specific
heat varies as
1y T
|
(2) T

3 T

51—



1006.

107.

108.

formmam & fore wes Tfim fewamst afem
ﬁg@ﬁ:'&ﬁﬁ'{%—
(1) f&m
(3) Fam

(2) Eiferm

(4) ITPH

TV TGS T DI 1 IO I G
a9 1 STerfi g 7

(1) GshHYT YT YT T HABR &S

BR |

(2) faftm ariedtertor s wefsia
T |

(3) T&® (n-1) d Erni bt Tqufeafa

4) =Rt +2 Al T %
T

= Peen®t & =61 Sfa
[ gold 2% ., Th

. yTh =% Ra

- IWE § ¥ fopad e qut G @+

109,

(2) 1d

(3) T 1T 1IH
(4) Toref} o oft =i

Frferfea & @ ¥ @r/# & urg 3
FIOR 1 &ET T % forg e & 7
(1) Cu'

(2) Ca¥

(3) Cu*t @ Ca?t

(4) Zn*'
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106.

107.

108.

109.

The coloured tube for

advertisement mainly contains

discharge

(1) Xenon (2) Helium

(3) Neon (4) Argon

Which property of transition metals is
responsible for complex tormation ?
(D

Large size of transition metal

cation.
Shows several oxidation states.
Absence of vacant (n—1)d orbitals.

Due to stable +2 oxidation state.

e i 5 ¥ i
Consider the following radioactive
decay of

B .U =%, Th

ITh —% . Ra

In which case the group of parent and
daughter elements remains unchanged.
(1) Inl

(2) Inll

(3) InbothI & II

(4) None

Which of the following metal ions
arc/is required for clotting of blood ?

(1) Cu*t
(2) Ca*!
(3) Cu?*and Ca?t

4) Zn%*
06



110. arivfsran

CH,

hl

AN

C=0 + CN slow

111.

113.

06

CH,” e
CH, 2

,\C/o
cH,” “CN

[

CHy, /OH

b

CH CN

fepureRT SeTERur 8 7

(1) TS AT
(2) ToTERIAE e
(3) f¥ereEt A

(4) ATREREE Tl

SRUTTeHh YT YT T eI 360 & —
(1) F>NO,>Cl>Br>1>O0CH, >
Cl’)H5

NO, > F > Cl > Br> 1 > OCH, >
C,H,

U]
OCH;y>F>Cl>
NO,

NO, >1>Br>Cl>F>CH; >
OCH,

(2)

Br>I>C.H: >

i %D

(3)

. e F faw A FHIEE B

[V HAS

(1) 313 nm (2) 413 nm
(3) 213 nm 4) 113 nm
H,0 379 # et fare e <6t e &
(1) 3 2) 6

(3) 5 4) 0
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110. The reaction

I11.

gz

113.

» EH;
Py .
C=0 + CN slow
CH,” e
CH ~
A\C/O
cH,” “CN

v

(‘.H_;\C/OH

Is an example of

CN

(1) Electrophilic addition
(2) Electrophilic substitution
(3) Nucleophilic addition
(4) Nucleophilic substitution

Correct order of negative inductive

effect is

(1) F>NO,>Cl>Br>1>0OCH,>
G He -

- NO,>F>Cl>Br>1>0CH, >
C,H;

OCH;>F>Cl>Br>1>CH;>

NO,

NO,>1>Br>Cl>F>CH; >

OCH,

3

A, forthe compound is

(2) 413 nm
(4)

313 nm

213 nm

(1)
(3)

113 nm

The number of fundamental modes of
vibration in H,0 molecule are

(1) 3 (2) 6

(3) 5 4 0



114.

116.

117,

118.

arfafsran A, B 3fi C < semfa &t A 8
v ife &1, BH sl wife A wa Cc A
=gohH SUH HIE AT 8 | A A, B AR C,
aft b argaradt H e =R T R d
ST Y 3AffsRa A o O —

(1) =TT &Y SR |

(2) B IET &S |

(3) fafda w@m |

(4) i 7T & SR

. T HIfe s Tk FTTHAT Hl 75% BH |

32 firge oM, 3@ e B9 § foramn @
T ?

(1) 4fie ) 8fime

(3) 16 fre 4) 32 e

T W1 TH fIeRM wk g CsCl
foreras &1 gaaEdl € | S T ST
TF a9 g9 2 | afe sk faerm d 0.2
e Iufera & at ga fareram # CsCleh
fraa Aier Sufera gt ?

(1) 0.1 9 (2) 0.2 T

(3) 0.05 A (4) 0.004 A

e T FHI hl T B Heat A5 &
faeram 4 gren ar &, a1 faerm &1 w
frem 2t ST & FifE —

(1) T T ST BT & |

(2) Toreet =T STerfieRToT BT © |

(3) hIUX o1 ST IHL0T BlaT & |

(4) T forets gt o1 Fmiv g € |

25 °C W faga- arereh 3«
Ay T+ 73— AT+ Z
& o« fowg &1 94 0.59 V @ a9

arfirfsran < w1 feRTh 1 WM 8 —
(1) 1/0.59 (2) 0.59
(3) 1x10% (4) 1x10%%
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114,

116.

)

118.

Kinetics of a reaction among A, B and
C is first order in A, half order in B
and inverse first order in C. On
quadrupling the concentration of each
of A, B and C, the rate of the reaction
would

(1) be quadrupled

(2) be doubled

(3) remain unchanged

(4) be tripled

. 75% of a reaction of the first order was

completed in 32 minutes. What is the
time for its halt completion ?

(1) 4 minutes (2) 8 minutes

(3) 16 minutes (4) 32 minutes

A solution of sugar was isotonic with
another solution of CsCIl. Both had
same volume and same temperature. If
sugar solution contained 0.2 mol of
sugar, estimate the number of moles of
CsCl in other solution.

(1) 0.1 mole (2) 0.2 mole

(3) 0.05 mole (4) 0.004 mole

When a copper rod is put into a
solution of silver nitrate, the colour of
solution changes to blue because of

(1)
(2)
(3)
(4)

reduction of copper

oxidation of silver

oxidation of copper

formation of a soluble complex

At 25 °C, the standard cell potential of
the following electrochemical cell is
0.59 V.

B oy TZ =BT HL

Calculate the equilibrium constant of
the cell reaction.
(1) 1/0.59

(3) 1x10%

(2) 0.59
(4) 1x 100,5‘]

06
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121.

122,

Hffa aia 3 :

(1) fommt & yg@E e

(2) a=faes faft

(3) s Rrgia

(4) feramt <t aRTIE v A e

. Frefafea # @ = w1 weg=at Fmio

%1 g T&i 8 ?

(1) 3Travgehdr @ fagia
(2) Treres spfaa =1 frgia
(3) SuAifien =1 fagra
(4) =g 1 g

fraferftaa & & 1 wt fativar gor R

YR TEi e ?

(1) TH & & QAT Al 1eATH
Teh 1Y U1 Tehd 2 |

(2) IE TH STA-hisa e fafer 7 |

(3) THH wHE ITYH PEY ¥ W
TR B R |

(4) I8 HTlEh STGIHI YL ST & |

o sETEen i SRR FEifE e

T Fraferfaa & @ fha e = @M

T T ST =Ry ?

(1) YT T ThR

(2) Uk gHT | 1 HH Gt ITfeRan
ferenfefat <6y g

(3) YT h hiFd

(4) VSR K& h &HAT
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119. The nature of science as a process

includes :

(1) key concepts of science

(2) scientific method

(3) scientific theories _

(4) definitions and knowledge

statement of science

120. Which of the following is not the
principle of curriculum construction ?
(1) Principle of need
(2) Principle of teacher centredness
(3) Principle of utility
(4) Principle of flexibility
121. Which of the following characteristics
is not related to team teaching ?
(1) Two or more teachers can teach
one class together.
(2) It is a child centred method of
teaching.
(3) In this class instruction is
completely pre arranged.
(4) It is based on collective
responsibility.
122. Which of the following factors should

e

be considered while deciding the size

of a science laboratory ?

(1) Type of equipment

(2) Maximum number of students
working at a time

(3) Costof equipment
Capacity of store room



124.

126.

127.

frg yeR w1 geaied i %

_mﬁ%ﬁmmﬁﬁﬁmﬂﬁ%
o 3w & °

(1) AR (2) lwd

(3) TremTeTs (4) SUURIHS
s 1 ot Rdl % wy TEEEey wl
i %@ o freffea 3§ @ w9 g=
siftrent frvrar 2 7

(1) UTGAYEH (2) e

(3) A 4) Fwdt

. ‘“Hlege &g I I EE & —

(2) IS T
(4) STHA WISt

(1) = T
(3) wfe wmen

frafafea § @ =9 @ QUA T=ESE
fafy @ grafRa i R 2

(1) ITheg1t = Fmfor

(2) SIS Y qrd

(3) SRS = feRaraeE

(4) TSI 1 JEATR

FW % GE guiied {Shaehed, &l
B JaeAlh Hd 8, T HLd 8, QN
FA T qUT B BT hT =TT
T &, el 8 —

(1) fosm o=

(2) & yHoT

(3) T wavTeen

(4) formm dwee™
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123.

126.

127.

Which type of evaluation is suitable to
tfindout the specific weaknesses of
students’ learning ?

(N
(2)
3)
4)

Formative
Summative
Diagnostic
Remedial

. Which one of the following play an

role in
of science

important
correlation
subjects ?
(1) Text book
(2) Teacher

(3) Curriculum
(4) All of these

establishing
with other

. The word *curriculum’ originated from

(1) French language
(2) English language
(3) Latin language

(4) German language

Which of the following steps is not
related to the project method ?

(1) Formulation of hypotheses
(2) Planning the project
(3) Execution of the project

(4) Evaluation of the project

The activity conducted out of the

classroom, where pupils observe,
experiment, explore and interpret the

natural phenomena is callcd :
(1) Science club

(2) Field trip

(3) Science laboratory

(4) Science Museum

06



128.

130.

qaq, U9 A% HoAihd H oAU

oI o1 372 8 —

(1) |ATCHD U&7 T qouTohe

(2) §FFTCHS Ud WETCHS Y& @
AT

(3) HFMIHS, WEHS Td {hateaes
9& 1 YT

(4) wETHS wd fharews ww o e
LIRIET |

. S AT (F.3.T) 1992 (T d .-

1986) o freres 6 fmfarfiaa § & fea
R vl Sweiieal W fafie w@@
femmn g 2

(37) Tr&Tr wg awies S

(¥) AN T ST HET

(@) amTfoTes v forer Saradt § ww o
frafefied g2 9 @ wdt s w1 ==
$Hif

(1) RA).@TTE) (2) (3I)dA1(d)
(3) (AU (H)  (4) Haw ()

frafafes 4 @ =9 @ e Wl
AR YA d If=m g BT g ?
(1) Ragorog (2) FFAH TG
(3) Tdiemr ug (4) STEATHT T

. TP grga=El Y TR (... -

2005) & TEfg Fefoiea § @ $

o1 ATieei faga gt el 7 7

(1) T I Thot Y oG Sited & S |

(2) 9313 w@a WUmelt ¥ g ®, T8
gfeea = |

(3) wlan = 3wpa Afuw Sfew T
ST T |

(4) W Ut FfawE) ggEE @ faem
g o oS sEen %
F=qia Wt feamd wmea & |
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128.

129.

130.

. Which
- principle

In  continuous and

cvaluation

Evaluation’ means ;
(nH
(2)

comprehensive
‘Comprehensive

Evaluation of cognitive domain.

Evaluation of and

affective domain,

cognitive
(3) Evaluation of cognitive, affective
and psychomotor domain.
Evaluation of affective
psychomotor domain.

and

)

Which of the following roles and

responsibilities of the teacher were

specifically emphasized in Programme

of Action (POA) 1992 (NPE-1986) ?

(A) To do teaching and guidance

(B) To do experimentation and research

(C) To participate in social and
extension services.

Select the correct answer using the

codes given below :

(1) (A), (B)and (C)

(2) (A)and (B)

(3) (A)and (C)

(4) Only (A)

Which of the following is the terminal

frame in linear programmed instruction ?

(1) Teaching frame

(2) Practice frame

(3) Testing frame

(4) Introductory trame

of the following guiding

related to National

Curriculum Framework — 2005 (NCF-

2005) is not correct ?

(1) Connecting knowledge
outside the school.

to life

(2) Ensuring that learning shifts away
from rote method.
(3) Making examination more

complex and ditticult.

Nurturing an overriding identity
informed by caring concerns
within the democratic polity of
the country.



132,

Fr=fafaa # @ = ot e faty s1e-
Ffzafafrd ?

(1) wexi fafer

(2) =mem faf

(3) SATEAY JeyH iy
(4) wEvee faf

. Frafafea # & 95 @ Rrwar I=fes

gf¥eniv aret Atk & =fthe ON I &
gt ?

(1) SgrwAgha

(2) TSr=man i yefa

(3) HrE-sr grEl | fovam

(4) Iufaverat 4 fovamm

. o <l T % STTAR WA 98

% el HI TG HH B

(1) 3T — RN — HIH —
IS — ST Lo

(2) IR — IFTTEA — IHRAT —
39 — SR

(3) JWET — T — IMETHRT —
S — S

(4) IFHEA — IEN — W& —
3feR — STt
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132.

Which one of the following teaching
method is child centred method ?

(1)

Demonstration method

(2) Lecture method
(3) Lecture-cum-demonstration
method
(4) Laboratory mcthod
. Which one of the following
characteristics does not reflect the

personality attribute of'a person having
scientific attitude ? "

(D

Open-mindedness
Spirit of curiosity

Faith in cause and ecffect

relationship

Belief in superstitions

. The correct sequence of objectives of
“affective domain according to Bloom’s

Taxonomy is

(1) Receiving — Responding —
Valuing —  Organisation —
Characterisation

(2) Receiving —  Valuing —
Responding —  Organisation —
Characterisation

(3) Receiving — Organisation —
Characterisation — Valuing —
Responding

(4) Valuing —  Receiving —

Organisation — Responding —
Characterisation

06
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136.

138.

06

IMTHATCH I =t Treanfea foram 2
(1) sfag g

(2) S.TH. TR

(3) k. TR

(4) BES MER

forarers § faem Fore & WA W &

AT -

(1) ITEAThI % SAfthed 1 forehrd HET |

(2) SUHTETE % TEeE S & G
HET | |

(3) FAfrvreresi = feremera & ST |

(4) T § goFTeS @ wSATCAS
&THAT 1 farehTel e |

. TRTE TR 3 TET T IR —

(1) ohemor yei 3 ferveefaar v duar @ |
(2) STEATIH B <ht Taieh I

TR R Fehell © |
(3) el %1 i e S |
(4) 37 IR gRg S I B R |

frafafaa 4 @ a9 @ swafya e
aft 7§ 7

(1) " E
(3) St

(2) =

(4) HissA
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135.

136.

137.

Which of the following psychologist
promoted the inductive learning ?

(1) David Asubel
(2) J1.S. Bruner
(3) B.F. Skinner

(4) Harward Gardner

The main objective of organisation of

science club in school is

(1) To develop the personality of
teachers.

(2) To develop management skill of
principals.

(3) To connect parents to school.

(49) To develop creative  and
organisational capacity of
students. '

Merit of the objective type test is :

The test items are reliable and

(1)

valid.

(2) Teacher can assess the internal
fecling of the student.

(3) Framing of questions is easy.

(4) The scoring process is time
consuming.

. Which of the following is not the non-

projected teaching aid ?
(1) Flannel Board
(2) Chart

(3) Motion picture
(4) Model



139.

140.

141.

(1) IM.TA.C. TR
(2) IM.TA.T. vy ffie @
(3) SI.EA.U W& wHTH
(4) ST @A

hIST Uh STEHRTSS B | ST Th 37

- I L edT &

(1) 2 3 H &5

(2) b 3] IS T Teh ] e
<l

(3) Th 3Y] o[RS Ud Th 379 AR
<hl

(4) < 3T I
Fefafean s gww-dvewo &)

FHTferd L & :

(1) CO, + AHTT + JHT
(2) CO, + M +N,
(3) S+ + N,

(4) O,+3 M+ N,

. IEEY WEA % A ST hH @ 7

(1) CO,+ H,0+FHsi
(2) CO, +Hsl

(3) ¥HT + ot + H,0
(4) 0,+COy+H,0

. TIEHT % Hdehi § WTHfash €9 & IR ST

e gHE 8 @ w # o e
FHA HEd & HIAHR ;

(1) 3rifeaa

(2) WTEEHEAA

(3) Frsifem

(4) Ukl uflg
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140.

141.

142,

143.

. Chromosomes are made up of':

(1) RN.A.+DN.A.
(2) R.N.A.+ Lipids
(3) D.N.A.+ Sugar
(4) D.N.A. + Proteins

Sucrose is a disaccharide. One
molecule of sucrose on hydrolysis
gives :

(1) 2 molecules of glucose

(2) I molecule of glucose + 1
molecule of galactose

(3) 1 molecule of glucose + 1
molecule of fructose

(4) 2 molecules of fructose
Photosynthesis  is  affected
following factors :

(1) CO, + teniperature + light
(2) CO, +light+N,

by

(3) Water + temperature + N,

(4) O, + water + N,

Which are the end products of Aerobic
respiration ?

(1) CO,+H,0 + energy

(2) CO, + energy

(3) Sugar +energy + H,0

(4) O,+CO,+H,0

The hormone which occurs naturally

in plant tissues and is commonly
known as stress hormone is :

(1) Auxin
(2) Cytokinin
(3) Gibberelin
(4) Abscissic Acid
06



144,

146.

147.

148.

149.

150.

The organisation which publishes the
‘Red Data Book’ of species is :

(1) ICFRE |

(2) IUCN

(3) UNEP

(4) WWF

. In animals epithelial tissues are formed

from :
(1) Ectoderm
(3) Mesoderm

(2) Endoderm
(4) All of these

Which of the following hormone is
produced only from adrenal cortex ?

(1) Testosterone (2) Aldosterone

(3) Adrenaline (4) Progesterone
Arrange the following events in kidney
during urine formation, in the correct
order :

1.  Glomerular filtration

2. Secretion

3. Reabsorption

(h)

la 29 3 (2) 11 31 2
3) 2.3,1 (4) 3,1,2
Locomotion by peristaltic movement

is found in
(1) Tortoise
(3) Crab

(2) Earthworm
(4) Cockroach

Which among the following chemical
1s used to induce polyploidy in plants ?

(1) PEG (Polyethylene Glycol)
(2) Sodium algenate

(3) Auxin

(4) Colchicine

The first human hormone produced by
recombinant DNA technology is
(1) Insulin

(3) Thyroxine

(2) Estrogen
(4) Pro gesterone

144, 98 wweA S wfedi 1 T e
wﬁmm%:
(1) 318 €).u%. 31 3.
(2) omE.gH.e.
(3) gugd.
(4) S S<Y TH.
145. STt # 3uhal e il B &
(1) TRNFERE  (2) JFdoer d
(3) AENHERE (4) Jefi |
146. F=fafga 4 @ w9 @ gWl %1 IR
e frgeh! gesh AT @ ?
(1) TR Q) TeEERA
(3) ugfer (4) TEHA
147. 9o ° g7 & fminr 4 fr=afafaa
A3 b1 I wHw o safera Sifvw
I, Hi-T=E feeew
2. HAfctht QreoT
3. YA TR
(1 1,2.3 () 1,3.2
(3) 2,3, 1 4) 3,1,2
148. SHHTS= T 3 GRT THH TTaT STTell & :
(1) HgTuH (2) *HECH
(3) HhsH (4) himu=
149. "mra; frefafiea & @ @ 8 @
%1 391 UTedi § agrfurar st s
=g feran sman 2 2
(1) di3.3f (diefiumfer re) g
(2) Gifgay TE=ae gra
(3) AffaaA R
(4) ifeatdd grI
150. G €huA.u. Skifieh gro safed
Y& HIAd BT & :
(1) sgfem (2) TEH
(3) uTsUfega (4) NI
06

31



T H R/ SPACE FOR ROUGH WORK

06 o» L3



